(2 37) = (2 37=) DEE

TWwEAZLUEL & D,

12)24 22)88
31)62 11)55
23)69 13)39

4 S22 UThI2OVEOEE> (2 T7k) + (2 Uk) %R



(2 37) = (2 37=) DEE

TWwEAZLUEL & D,

20)40 21)84
30)60 12)36
20)80 33)99

4 S22 UThI2OVEOEE> (2 T7k) + (2 Uk) %R



(2 37) = (2 37=) DEE

TWwEAZLUEL & D,

15)30 24)72
12)60 15)45
12)84 25)75

4 S22 UThI2OVEOEE> (2 T7k) + (2 Uk) %R



(2 37) = (2 37=) DEE

TWwEAZLUEL & D,

25)75 13)52
38)76 15)75
23)92 29)58

4 S22 UThI2OVEOEE> (2 T7k) + (2 Uk) %R



(2 37) = (2 37=) DEE

TWwEAZLUEL & D,

15)45 18)36
24)72 36)72
14)56 45)90

4 S22 UThI2OVEOEE> (2 T7k) + (2 Uk) %R



